Do at least: 3, 7, 17, 23, 25, 31, 37, 41, 45, 51, 61, 66. Review Problems

Review for basic Integration Techniques |: uw — du Sub.. Parts, Trig Integral, Trig Substitution, Partial Fractions.

Time to test your pattern recognition skills, which is a valuable skill no matter what your academic pursuit is.
For each integration technique, look over the list of integral problems from that section and see what they have in
common as to learn when the technique from that section should be applied. Then evaluate the integrals below.

Anwers and Solutions to All: Answers and soltions to all can be found on the course homepage. To find: Course Homepage —

Homework for Chapter on Integration — Review of Sections over Integration Techniques — look under the row for 81 Integrals.

Clarification (for hard to read/see print ones) and hints (to harder ones) are given.
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16 reads: Hint for 23: v =1+ x/2.
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Do at least: 3, 7, 17, 23, 25, 31, 37, 41, 45, 51, 61, 66.

Review Problems
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44 reads: /\/1 + et dx.

Hint for 31: conjugate - multiply the numerator and denominator by (1 + z)
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Do at least: 3, 7, 17, 23, 25, 31, 37, 41, 45, 51, 61, 66. Review Problems
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Hint for 66: PFD. Do you have (strictly) bigger bottoms? The PFD of the integrand is 1+ % —-Li_ 1
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Do at least: 3, 7, 17, 23, 25, 31, 37, 41, 45, 51, 61, 66.

Review Problems
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81. The functionsy = e and y = xie':?dﬂn't have elementary
antiderivatives, but y = (2x* + 1)e* does. Evaluate

((2x% + 1je*dx.

Anwers to Odd

EXERCISES 7.5 = PAGE 4838

. 1 .
sinx + ;sin‘x + C

1.
3. sinx + In|cscx — cotx| + C
5.4-In9 7. e - ™
9. 23— I $In(x* —4x + 5) + tan (x — 2) + C
13. 1 cos’® — cos®® + € (or Lsin'® — 1sin®@ + § sin®0 + C)
15. x/VT—x2 + C
17. 1x? — ixsinx cosx + ysin’x + C
(or jx? — Jxsin2x — fcos2x + C)
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6l. 2(x — 2k + 2)e" + C
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V2 =243+ m(2 4+ 43) - In(l + 2)

ciln|x = 2] = £In(x® + 4) — ftan '(x/2) + €
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Problems from Calculus, Farly Transcentdental by Stewart (6th ed.) Section 7.5 pages 488-489.
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